§99
G ESEBXELLS— LieE JOSSLE) 11AOEH

1 BOSE2ED S
55, BkOddh
[tk #] I
B0 IER
2 3 4 5 6 7 8 22— U IC
p-4|A0]=] . EhER<IZXLl),
hu] | BEIDTIE [thas] | [#re] BEBEE L 255
CI
0 = .
9 1 T 12 73 - 5 S
BER N F=2
() 3 (o) [th#] | [tha] 6006
10 U 18 19 20 21 22
23 24 25 26 27 28 29
mﬁﬁﬁ?a A (k] | [tha]
30

% 204500, FRICAhECBOHICAMNCTIRE(, — T T T T -

% 2075LARNEREINBABHDSETITBTLTHIRR R—ICBIEED, R27ICEELTHSIBIESL), |
% 20750LTRHARONNBREN DTS, CORBIFERRTOLMTHAL LSS, !
% ZD750IBETAORRERUANMBRERLCVESFS. ]



